$1E #MEARU-12+vy7FYV—-7 HEE

6/20E %
E=Fk—L
F£1.280 5/19 (H) =% hoRNEEELE ALZE = BB#H
No| EsEg Ax-+ GEEEE)) _ Ba-b (Z2&4)) _

X B F -4 B EIES X EEF- L F3 k=
1| 10:00 | At 0-2 {ZFH | BB#E | #¥Hm | Xl 0-0 1-27v T2G [ man
2 | 11:00 [BB#HEH 1-0 AHEmR | A% —#HE | T2G 8-1 Ian WN [ 2-z7v KAl

12:00 - -
3| 13:00 | 1-=7~ 2-1  A¥EE | TG A58 KA 1-3  BB#HE| zawb | =HH
4 | 14:00 | T2G 9-0 AR 1-2yy | AR |IAN VN 0-7  {ZFHME | BBRE | Kl
F13FER 5/26 (H) =i BERSEHLEIKES B {—FH
No| R Arh _ Batt _

ST EEF -4 EX= EIES S EHEF -1 B k=
1] 16:30 [1ZHMA 00 AHEE | 4

F3.480 6/9 (H) =5 poRNEEELE ALZ B -7V
No| R Arh _ Ba-t _

ST EHEF -4 B EIES S EHEF -1 B k=
1| 10:00 |Ia~ Wb 3-1 AR | BBMEH | (ZHHE | T2G 5-0 1-Z7y | meE KAl
2 | 11:00 | 1=FHH 1-0 BB#HMA| &=it@m | vt | AEE 0-0 KA T2G 177y

12:00
3| 13:00 [ T2G 2-0 BB#HE]| A |~k | AHERE 0 0-3 AmE | oHE | 1o
4 | 14:00 | XL 2-0 I~ N [ BBEE | T2 | {ZHEA 0 1-0 1-27y | &iEE e
FI28EH 6/16 (H) =% EF)A)IBEES N E pE {—# M|
No| msrs Al-} i _ Bi1-t _

ST EHEF -4 B HES ST -4 B k=

1| 16:30 | &AL 0-0 {ZHHE| £
T 7/15 (B) =% ‘BN ) pE) EE ]
No| msrs Al-} i _ Bi1-t _

ST EHEF -4 B HES ST -4 B k=
1| 10:00 | XAb - ERE | mm [Lr—x -

2 | 11:00 - -

3| 12:00 | fE - AERE | Kl KA -

4 | 13:00 - -

5 | 14:00 - -

55.680 7/20 (%) =15 hoRNEEELE ALZ B AN hE

No| B5FS " Alh _ \ Bat _

ST EEF -4 EX= alE ST EHEF -4 ES= k=
1| 10:00 | {ZFHH - KA e 1-z7y | BBFKH - AN W | AR T2G
2 | 11:00 | A% - 1-27v | Kl CHE | Nt - T2G | BB#ME | w2 b

12:00 - -
3 | 13:00 [ XAl - T2G 17y | AN N | AR - {—HM | BBME | AfE
4 | 14:00 | 2-z7v - IanN N | Kkl T2G | BBRKH - ABE | &tE | CHA




#7.8H0 7/21 (B) =15 V77—l (BERFEED Y AMRIEPM) EE BB
X Ad-F Ba-f
No| 5T e IE | 9E BT IE | 0E
1 | 10:00 |zan Wh - AL | At KL | {ZFHH - T2G 1--7y | BB#H
11:00 | AR - NI ENTS A EE 1-27v - BB#H | 1=3#H T2G
12:00 - -
3| 13:00 | {ZFH - AEE | &gEm | BBMA | 1-27Y - T IENTS T2G
4 | 14:00 | &3t - BBFAH | =#mE | & |1an Wh - T2G 1-27y Al
2%9.1087 7/27 (+) =15 hRANEEELE ALZ pE=Y {ZFHH
No| mses A3-} _ Ba-t i _
X B F -4 FE | 3F X EEF- L FE | BIE
1 | 10:00 | &3Etm - 1-Z7y | e T2G | BBRKH - PN BN R
11:00 | AgE = T2G | #w#m | -7y [ (ZHHE — 12~ b [ BBEE | kil
12:00 - -
3| 13:00 | A¥m - IZN VN | BBRE | HE [ -2 - T2G AL =L
4 | 14:00 |BBFHE - —#m | &#Em | ok | oAl — AEE | 17 T2G
#11.1280  8/3 () =% hRNEEE)LE ATZ pCa=) T2G
No| mses A3-} _ Ba-} _
XFEEF -1 FE | 3F X EEF -1 F® | BE
1| 10:00 | BB&#H - T2G | ma~ wk KA ALE - KER | -7y | HHA
11:00 [Za~" Wh - KAl | BB#E T2G 1-27Y = ZHHE| AE AR
12:00 | 1-27~ - T2G | b | g —
3 13:00 [za~x" wi - BBRHE| 1-=7v T2G AL - {ZHA | -7y ALE
4 | 14:00 | 1-z7v — e T2G | BB# A | T2G — AR | v ub | BBRE
#13.1480  8/24 (%) =15 R NEEE)LE ATZ B KA
No| B Ak _ Bt _
X EEF -1 FE | 3F X EEF -1 FE | FE
1| 10:00 | T2G - IR ENTS = =T = AHm | sm | BBMMA
11:00 |12~ WK - 1-Z77 | T2G A AL BB H | 1—#ME | A%
12:00 -
3| 13:00 | A% — I~ Wb | BBEE [ 17 T2G - {—HH | BB#E [ 1-z7v
4 | 14:00 |BB#H - 1-27Y meE | s ok | oAl = A | mE | b
F1ig 8/25 (H) &18 vS5—L (BRI Y AMXEPM)  JE S A
No| R ATh _ Bt _
ST EEF -4 EEEES ST EHEF -4 FE | FE
1| 10:00 AR - T2G HEgeh -
2 | 11:00 - -
3| 12:00 KA - AR HEgeh -
4 1 13:00 - -
5 | 14:00 - -
1 9/1 (H) =5 R ANEEELE RKAZ pEAC=Y ZHH
No| RS i Cab _ \ Da-t _
ST EEF -4 FE | F3F ST EHEF -4 FE | FE
1| 10:00 | 1-z7~ - {ZHH T2G AR -
2 | 11:00 - -
3| 12:00 T2G - RER | CHH 127y —
4 | 13:00 - -
5 | 14:00 | T2G — CHmA | 7 | 2w -




